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N.B.: (1) All Questions are Compulsory.
(2) Figures to right indicate full marks.
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Select correct option from the following and rewrite the sentence (Any 8): (8)

The insurance sector is regulated by :
a) RBI b) SEBI ¢) Commercial Bank  d) IRDA

The National Stock Exchange (NSE) was established in 5
a) 1992 b)1999 «¢)1988 d) 1951

RBI’s agricultural functions were taken over by in the year 1982.
a) IDBI ~ b) NABARD c¢)RRB d)SEC

are the main participants in the call money market.
a) Commercial Banks b) Primary Dealers
¢) Co-operative Bank d) All of'the above

To address queries of farmers, are operational in various Indian
states.

a) Online Services b) Kisan Call Centers

c¢) Extension Services d) Mechanization

TRIPs deal with \
a) Investment measures b) General Services
¢) Intellectual Property Rights d) Regional Cooperation

Special Economic Zones are meant for -
a) Export Promotion b) Import Substitution

¢) Increasing FDI d) Regional Cooperation
campaign is used to promote tourism in India.

a) Rural India b) National Mission

C) e- tourist visa d) Incredible India

is not adverse effects of Urbanization.
a) Rise in crime b) Overcrowding ¢) Congestion d) Convenience

Janani Suraksha Yojana is concerned with
a) Rural Population b) Literacy of Mothers
¢) Reduction of Maternal Mortality rate d) Women Entrepreneurship

State whether the following statements are True OR False (Any 7):- )

Annapurna scheme provides food security to senior citizens.
Distribution of income is unequal in India.
Unemployment during off season is called seasonal unemployment.
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Agriculture Price Policy protects both producers and consumers.

Wide variations are seen in Unemployment across states in India.

India’s imports have always been in excess of exports.

Medical tourism is one of the slowest growing segments in India.

FDI is not permitted in insurance. sector in India.

The Government classifies industries into micro, small and medium
enterprises on the basis of the investment limit.

The call rate is determined by the demand and supply of short- term funds.

a) Explain the various poverty alleviation programmes initiated by the
Government of India.
b) What are the causes of unemployment in India?

OR

¢) What are the positive effects of Urbanisation in India?
d) Highlight the reasons for poor implementation of land reforms in India.

a) Evaluate the need for stabilising agricultural prices.
b) Discuss the problems of agricultural marketing in India.

OR

¢) Discuss the Recent Trends in Insurance industry in India
d) Explain the highlights.of New Industrial Policy 1991.

a) Highlight the role of public sector in India.
b) Discuss the measures adopted by government for the development of
small-scale industries.

OR

¢) Explain the nature and scope of service sector industry in India.
d) Discuss the favourable effects of foreign capital on developing economy.

a) * Explain the quantitative and qualitative measures used by RBI to control
credit.
b) ~Discuss the structure of Indian Money Market.

OR

Write Short Notes (Any 3)
a) WTO
b) Green Revolution
¢) NABARD
d) SAARC
e) Role of SEBI
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